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Guess Paper – 2009

Class – X

Subject – Mathematics    
Time =  2Hr






Max Marks = 45
General Instructions

The question paper consists of 22 questions divided into four sections A, B and C. Section A comprises of 10questions of one mark each, section B comprises of 5 questions of two marks each , Section C comprises of 5questions of three marks each & section D contains 2 question of 5 marks each





Section-A
1. The nth term tn of A.P. is given by tn=5-2n . Find its 4th term.

2. Find the roots of the quadratic equation:
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3. Solve the following  equation and write the value of x and y:

x+y=14;
x-y=4

4. Without actually performing the long division ,state whether the following rational number is terminating decimal expansion or non terminating repeating decimal expansion 
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5. Write the value of m for which the following lines are parallel
3x-2y=5
;
4y=mx-8
6. Write the next term of the A.P. 
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7. If the product of zeroes of the polynomial 
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 is 4 , find the value of ‘a’.

8. Write the quadratic equation for the following problem:

“square of a number is 5 less than four time the number .”

9. State the euclids division lemma.

10. Write the prime factors of  182. 

Section-B
11. If the 10th term of an A.P. is 47 and its first term is 2,find the sum of its first 15 terms.

12. Find the solution of follwing pair of equation.
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13. What are the quotient and the remainder , when 
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 is divided by 
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14. If 
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 find the value of m and n.

15. Find the ages of the father and his son , if the sum of their ages is 35 and product is 150 years.

Section-C
16. Prove that 
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 is an irrational number.

OR

             Using Euclid’s division algorithm , find the H.C.F. of 56,96,404.

17. If two zeroes of
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 the polynomial 
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 and 
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,find the other zeroes of the polynomial.

18. From your pocket money , you save Rs 1 on day,Rs 2 on day, Rs 3 on day 3 and so on . How much you will save in the month of March 2009.

19. Find the roots of the following equations:
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20. Represent the following system of linear equations graphically .From the graph , find the points where the lines intersect y-axis:
3x+y-5=0   ;    2x-y-5=0





OR
            Solve the following equations.
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Section-D
21. In a class test , the sum of the marks obtained by P in science and Mathematics is 28. Had he got 3 more marks in mathematics  and 4 marks less in Science , the product of marks obtained in the two subjects would have been 180.Find the marks obtained in two subjects separately.
OR

          4 men and 6 boys can finish a piece of work in 20 days while 3 men and 4 boys can  

finish it in 28 days . find the time taken one man alone and by one boy alone to finish the work.

22. For an A.P prove that 
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  Hence find the value of 
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